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No BT R HE HElniELE trL-134 t 9 L-137 EEE
Ba. kg Bg. kg Ba ke
1 Eeh R4.9.15 BERLULM=T (E% BREE9(<2.2) BREE9(<2.7) BRHEEY
2 SEEEE R4.9.15 BEERLULM=T (FE% BRHEET(<47) BRHET(<L3.8) - Janpcc
3 T $ERET R4.9.16 EREL =T (EHh) BREE9(<4.1) BRHEE9(<3.5) - Janpcc N
4 Hn;EET R4.9.15 BEARZEW=IT(FEHh) BRHEE9(<3.6) 8.73 8.7
5 2emh R4.9.15 BERUO ST =T (FEER) BREE9(<4.1) BRHEE9(<3.8) - Janpcc
6 =BT R4.9.15 BEARSNZIZY =1+ (Eh) BRHE9(<6.0) BRHET(<45) - Janpcc N
7 sG] R4.9.14 TFN\)E7 (BEH) BREE9(<2.6) 5.05 5.1
8 LT R4.9.16 T3 (BEE) BREE9(<2.5) 5.76 5.8

BaBEE B2 —REBEROEEE 9L 100Bg/kg(t>HL-134, 22 H L-13TDOEE(E)
HEEME: LD L1342 D L-13TDEEEIZDOVTIE., B F 24 (LN LIHTEZMIEREAL-LD) TRELTLET,




